Key learning: to answer addition and subtraction equations.

Success criteria:

I can add and subtract without crossing tens
I can add and subtract crossing tens
I can select a suitable method/the most efficient method to solve equations

I can check my answer

Support - drawing tens and ones, counting on

22.3.22

Support: I/PS/FS
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3+2= 7+1= 3-1= Q+9=

10-4 = 5+5= 2+7 = 11-4=

9-3-= Q-6= 5-4-= 7+6=

1+6 = 5+4= 8+4 = 12-3 =

6+4= 2-1= 8-7= 7+7=

8-3= 2+ 1= 10-5= 13-1-=

4+4 = 5-1= 8+3= 8-2-1=

5+9= 3+7 = 4-0= 1+3=

5-2= 6-4-= Q+6 = 2+4-3=

8+8= 2+8 + 3= 3-1-1= 6+4+5=

( . 9-2-3=  |4+9+1= 5+3—‘|=/
/Complete the equations. - \
12+7 = 15+ 14 = 45 -15=

19-3= 34+ 15 = 52 + 27 =

24 -3 = 33+13= 61+ 33 =
\23+5= 11+18= 31+ 14 = /
(Challenge yourself. - )
M+3+4= 22+ 12 +3 = 29 -24-3 =
23+4+2 = 37-11-5= 46 — 14 + 23 =
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